離散數學第十次家庭作業

教師:江清水   助教：張筑鈞、陳映文

範圍：§7.1~§7.3

Due：5/26  7:00 am

以下為單選題，請於網路e學園作答：

7.1

1. Is the sequence {an} is a asolution of the recurrence relation an=8an-1-16an-2 if
a) an=0

b) an =1

c) an =2n
2. Let an = 2n + 5‧3n for n=0,1,2,… Find (a0, a1, a2, a3 and a4)

a) (7,16 , 49, 143, 421)

b) (6, 17, 49, 98, 196)

c) (6, 17, 49, 143, 421)

7.2

3.  How many different messages can be transmitted in n microseconds using three different signals if one signal requires 1 microsecond for transmittal, the other two signals require 2 microseconds each for transmittal, and a signal in a message is followed immediately by the next singnal?
a) (2/3)2n
b) (1/3)(-1)n+(2/3)2n
c) (2/3)(-1)n+(1/3)2n
4. Find the solution to an=2an-1+an-2-2an-3 for n=3, 4, 5, …, with a0=3, a1=6, and a2=0.
a) an=6-2(-1)n
b) an=6-3(-1)n-2n
c) an=6-2(-1)n-2n
以下為問答題
7.1
5. An employee joined a company in 1999 with a starting salary of $50,000. Every year this employee receives a raise of $1000 plus 5% of the salary of previous year.

a) Set up a recurrence relation for the salary of this employee n year after 1999.

b) What will the salary of this employee be in 2007?

c) Find an explicit formula for the salary of this employee n years after1999.

